H & 0l & AHS B Ml A

2N 2FS
M sEMESE HH(RFT)
el H:0AH =4 (SH &)
SA - BB 9(B) - NIRA - BaS ol ke ol & o SimE==t
xS 1,661,528 1,295,524 366,004
sEMEEE HEH(2F8) 795,664 429,660 366,004
dF0AH =4 795,664 429,660 366,004
FOEON OlAALS 727,304 361,300 366,004
401 AIEHIL 2] 727,304 361,300 366,004
01 Al&HI 723,401 357,397 366,004
ORU0IE HEE =2 E&E3A
164,866 *120m 19,784 0 19,784
ONEOtS Ot §l =2 gH BL3A
659, 4662 *30m 19,784 0 19,784
OF=s0t2 HIE € =2 ZE3A
412,166 +60m 24,730 0 24,730
OFS0tE MYZ2 52 ZEIA
148,380 *100m 14,8338 0 14,838
OdE02 2388 0|l= s ZESA
148, 3802 *200m 29,676 0 29,676
OS8s02 &2H =2 &XI2A
370, 9502 *80m 29,676 0 29,676
O380t2 o2 MEESA
247,300 *80m 19,784 0 19,784
Og=otnts XYz A= HXIBAH
247,300 *80m 19,784 0 19,784
OhHIE S E =2 EXIBA
296, 7602 *100m 29,676 0 29,676
OXHHOEE HatE E42 HEXISA
247 ,3002 *120m 29,676 0 29,676
O=&0t2 HUE =2 AXISAt
395,680 *50m 19,784 0 19,784
O8ENs =3 =2 M EX3A
76,0022 %130m 9,892 0 9,892
OR4H0tE AU E M2 2 4X3
At 197,840 *100m 19,784 0 19,784
OR=02 T4 ti+2 @I EXI3A
141,3142*70m 9,892 0 9,892
Ogair2 =oIM=dH & iz € &
XIS A 148,380 *100m 14,8338 0 14,838
Ousios dgz ANz AXI2AH
3,462,200 *10m 34,622 0 34,622
OANBOtS SEiE 2 HEXISA
247,300 *80m 19,784 0 19,784




